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1. w5 Rewc Ik Shisa : . 1x8=8
Choose the correct alternatives :
(@) = =fcafel T@RE AR WIF MR @IFFR
—
AR and MR curves under perfect
competition are
(i) X-HI AR
parallel to X-axis
(i) Y-Sr%H3 AARIE
parallel to Y-axis
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¥ (2)

(iii) SR
upward sloping
(iv) TenT
downward sloping
(b) FF8 AR cvae TR W Rfdzrre
—_
In case of inferior goods, the income
elasticity of demand is
(i)
positive
(ii) ISF
negative

(i) %

zero
(iv) S5
infinity
) ‘Re =gy ofRm Reqe b1 f{ffs Somer
: AR TeomMeTel =
At all points on a ‘ridge line’, the MP of a
specific factor is o
(i) EE
positive
(ii) 0

Zero
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(3)

(iii) ST
negative
(iv) S
infinity
(d) T TRl AR | A
Under which form of market a firm is
price taker?
() TR IER
Monopoly
(i) = e T@m
Perfect competition
(iii) PR eAfScaive w\H
Monopolistic competition
(iv) TWREFOR ITH
Oligopoly
(e) ‘L’ =igpfex Fseers (iR 3 P |
The ‘L’ shaped indifference curve
signifies
() Res @
substitutable goods
(i) *REE &
complementary goods
(iii) e<a waw
Both of the above
(iv) €7 9BI8 7=
None of the above
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(4)

(N ©ReS e SranR MR SHeeeia I
ho ey :

The structure of the toothpaste industry
in India is best described as

(i) =1 afewrenERs et
perfectly competitive
(i) oo ot
monopoly
(iii) «FIdFR i st ’
monopolistically competitive

(iv) TEReEFe I Rowat
oligopolistic

(9) " CTPTIINR CHqe Y AfBH (=R

Under price leadership, the leading firm
- may be

() = IN 2=
low cost firm
(i) R eifdm
dominant firm
(iii) SfEwSE b

most experienced firm

(iv) e°¥3 a9 R @ 9B 27 iE
Any of the above

( Continued )

(5)

(h) ISR AN SAROR W& A

Public utility includes the supply of
(i) =
~ water

(i) TR

gas
(iii) R

electricity
(iv) SR AGIRCIZH!

All of the above

2. 5] ORI Rl (B deo R Fe®) :  4x4=16

Write short notes on (within 150 words
each) : '

(@) = I I I ISR

(b)

(c)

(d)
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Cash subsidy vs. Kind subsidy
e

Learning curve

T Restiesa

Price discrimination
IR Ryam

Prisoner’s dilemma
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3. (a)

(b)

4. (a)
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(6)

v w Ffemere &7 R W
ffgrrer TarR R 7 9w afeeee
Framm 22w cwae TR w1 ffemrerer R
et 2+4+8=14

What is price elasticity of demand? What
are the degrees of price elasticity of
demand? Examine the role of price
elasticity of demand in decision making
of a firm.

<1/ Or

TE FARIR ©GHl TRE foam e I

1 | & RFR og [ cwvas e @R
TG TS TPy 7 10+4=14
Explain the revealed preference theory
with appropriate diagram. In what
respects is the revealed preference
theory superior to indifference curve
analysis?

W«wmﬁémammww
R PG @FEF Samee fRgew I (&b
e Teoma THiftF @5 Py U W 2+12=14

What is a production iscquant curve?:
Discuss in what ways the least cost
combination and output maximizing
combination of factors are determined
with the help of isoquant curve and
isoclines.

( Continued )
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(b)

(a)

(b)
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(7))

%q1/ Or

I WF AT oG T/ TIPAE oA
oo Al 391 ‘L SRSt LAC &9
Foord T I 8+6=14

Discuss the relationship between
short-term and long-term average cost

curves. Explain the L-shape of the LAC
curve.

TelRe R 2 4 afecniier w@we TiEm
9 A T TR SRSl (RS
g 3 =@, SwET 9 2+12=14
What is normal price? Discuss how the
long-term equilibrium of industry and

firm is determined under perfect
competition.

Y31/ Or

GFOHN TS NeFEre e wH{dE I} W
oF BeArd ARG @i fRde | =
GFCOHA HAG FERF WA FWW?  10+4=14
Describe how a monopolist determines

his profit maximizing output and price -

in the long run. How can monopoly
power be measured?
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(8)

6. (a) T Rewol Iwe Beofeq oz & 2
I SR N S W | @I
SR (34 OGS T 7R SefRASANeS! (41 IW
@R 2 ‘ 4+8+2=14
What factors cause the emergence of
oligopoly? Explain the kinked demand
curve analysis. Is there always price
rigidity in kinked demand curve
analysis?

931/ Or

) IR & TRe wRBr Reess
Toffee wF Remy SRide smcaraR
TS [ ¥4 14

Critically discuss the Baumol’s model of
sales maximization with and without
advertising.

* &k
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